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To show that the behavior of an inductance in A.c. circuit
is analogous to that of a resistor which obeys Ohm’s law

and hence to measure inductance

A.C Circuit
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Experiment No. (1) Data // part (1)
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Experiment No. (1)

Data // part (2)
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Experiment No. (1)

Data // part (2)
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To show that the behavior of an capacitance in an A.c.
circuit is analogous to that of a resistor which obeys

Ohm’s law and hence to measure capacitance

A.C Circuit




AC
Source

+

4+ttt

- o o= = o=




Experiment No. (2)

Data // part (1)

f=50Hz | C=2pyF
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Experiment No. ( 2 ) | Data // part (1)
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Experiment No. (2)

Data // part (2)
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Experiment No. ( 2 ) | Data // part 2)
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Experiment No. ( 2 ) | Data // part (3)
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Experiment No. ( 2 ) | Data // part (3)
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Experiment No. ( 3 )

L-C-R Series




Inductive Reactance against Frequency
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Series RLC Circuit at Resonance
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Experiment No. (3)
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Experiment No. ( 3)
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Experiment No. (4) Data
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Experiment No. ( 4)
T=RC = (R .in Rv) X C =77 Theory value
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Experiment No. ( 4)

Ty =0.693 RC Theory value
Graph & Calculation / V volt
Practically
Ve
Practically value
slop = RC =77 o
T1/2 =0.693 RC g tsec
>
th = ticall
Eror ratio (Tl/ ) = eary —piae o8y X 100%
2 theory




Experiment No. ( 5 )

Experiments with a deflection magnetometer:
To investigate how the magnetic flux density due
to the current in a long straight wire varies with

(a) the current in the wire

(b) the distance from the wire




Experiment No. (5 )
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Experiment No. ( 5 )
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Experiment No. (5 )

Data // part 2
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Experiment No. ( 5) kel s
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